



口袋网校

同分母分数加减法

共120题

姓名: _____

日期: _____

$$\frac{3}{9} + \frac{5}{9} = \underline{\quad}$$

$$\frac{44}{47} - \frac{6}{47} = \underline{\quad}$$

$$\frac{5}{16} + \frac{4}{16} = \underline{\quad}$$

$$\frac{19}{17} - \frac{7}{17} = \underline{\quad}$$

$$\frac{2}{16} + \frac{11}{16} = \underline{\quad}$$

$$\frac{14}{17} - \frac{2}{17} = \underline{\quad}$$

$$\frac{11}{33} + \frac{13}{33} = \underline{\quad}$$

$$\frac{15}{33} - \frac{10}{33} = \underline{\quad}$$

$$\frac{3}{7} + \frac{1}{7} = \underline{\quad}$$

$$\frac{24}{29} - \frac{22}{29} = \underline{\quad}$$

$$\frac{3}{16} + \frac{8}{16} = \underline{\quad}$$

$$\frac{22}{29} - \frac{13}{29} = \underline{\quad}$$

$$\frac{25}{29} - \frac{23}{29} = \underline{\quad}$$

$$\frac{13}{33} + \frac{18}{33} = \underline{\quad}$$

$$\frac{2}{37} + \frac{13}{37} = \underline{\quad}$$

$$\frac{8}{4} + \frac{1}{4} = \underline{\quad}$$

$$\frac{3}{8} + \frac{4}{8} = \underline{\quad}$$

$$\frac{23}{27} + \frac{14}{27} = \underline{\quad}$$

$$\frac{6}{8} + \frac{3}{8} = \underline{\quad}$$

$$\frac{6}{9} - \frac{4}{9} = \underline{\quad}$$

$$\frac{14}{37} + \frac{13}{37} = \underline{\quad}$$

$$\frac{5}{7} + \frac{7}{7} = \underline{\quad}$$

$$\frac{7}{7} - \frac{4}{7} = \underline{\quad}$$

$$\frac{6}{6} - \frac{5}{6} = \underline{\quad}$$

$$\frac{4}{27} + \frac{12}{27} = \underline{\quad}$$

$$\frac{7}{8} + \frac{4}{8} = \underline{\quad}$$

$$\frac{6}{8} - \frac{5}{8} = \underline{\quad}$$

$$\frac{8}{9} - \frac{7}{9} = \underline{\quad}$$

$$\frac{3}{16} + \frac{10}{16} = \underline{\quad}$$

$$\frac{11}{21} - \frac{7}{21} = \underline{\quad}$$

$$\frac{42}{47} - \frac{14}{47} = \underline{\quad}$$

$$\frac{44}{47} - \frac{13}{47} = \underline{\quad}$$

$$\frac{2}{63} + \frac{11}{63} = \underline{\quad}$$

$$\frac{5}{63} + \frac{11}{63} = \underline{\quad}$$

$$\frac{12}{21} - \frac{6}{21} = \underline{\quad}$$

$$\frac{2}{37} + \frac{14}{37} = \underline{\quad}$$

$$\frac{2}{9} + \frac{5}{9} = \underline{\quad}$$

$$\frac{20}{33} - \frac{15}{33} = \underline{\quad}$$

$$\frac{45}{47} - \frac{4}{47} = \underline{\quad}$$

$$\frac{3}{7} - \frac{2}{7} = \underline{\quad}$$

$$\frac{2}{27} + \frac{7}{27} = \underline{\quad}$$

$$\frac{6}{8} + \frac{7}{8} = \underline{\quad}$$

$$\frac{23}{52} - \frac{4}{52} = \underline{\quad}$$

$$\frac{4}{51} + \frac{15}{51} = \underline{\quad}$$

$$\frac{3}{5} + \frac{4}{5} = \underline{\quad}$$

$$\frac{55}{65} - \frac{5}{65} = \underline{\quad}$$

$$\frac{3}{9} - \frac{2}{9} = \underline{\quad}$$

$$\frac{8}{8} + \frac{11}{8} = \underline{\quad}$$

$$\frac{45}{47} - \frac{8}{47} = \underline{\quad}$$

$$\frac{7}{5} + \frac{7}{5} = \underline{\quad}$$

$$\frac{13}{37} + \frac{15}{37} = \underline{\quad}$$

$$\frac{9}{13} + \frac{3}{13} = \underline{\quad}$$

$$\frac{44}{47} - \frac{23}{47} = \underline{\quad}$$

$$\frac{3}{9} - \frac{1}{9} = \underline{\quad}$$

$$\frac{13}{9} - \frac{5}{9} = \underline{\quad}$$

$$\frac{2}{37} + \frac{17}{37} = \underline{\quad}$$

$$\frac{3}{7} - \frac{1}{7} = \underline{\quad}$$

$$\frac{3}{27} + \frac{15}{27} = \underline{\quad}$$

$$\frac{17}{17} - \frac{3}{17} = \underline{\quad}$$

$$\frac{7}{37} + \frac{11}{37} = \underline{\quad}$$

扫描右侧二维码
下载更多资源吧





口袋网校

同分母分数加减法

共120题

姓名: _____

日期: _____

$$\frac{27}{33} + \frac{23}{33} = \underline{\quad}$$

$$\frac{8}{8} - \frac{7}{8} = \underline{\quad}$$

$$\frac{11}{21} - \frac{10}{21} = \underline{\quad}$$

$$\frac{2}{9} - \frac{1}{9} = \underline{\quad}$$

$$\frac{24}{34} - \frac{3}{34} = \underline{\quad}$$

$$\frac{42}{47} - \frac{7}{47} = \underline{\quad}$$

$$\frac{3}{7} + \frac{5}{7} = \underline{\quad}$$

$$\frac{9}{13} + \frac{1}{13} = \underline{\quad}$$

$$\frac{9}{9} - \frac{5}{9} = \underline{\quad}$$

$$\frac{22}{29} + \frac{22}{29} = \underline{\quad}$$

$$\frac{6}{7} + \frac{2}{7} = \underline{\quad}$$

$$\frac{4}{37} + \frac{13}{37} = \underline{\quad}$$

$$\frac{8}{22} + \frac{9}{22} = \underline{\quad}$$

$$\frac{3}{9} + \frac{5}{9} = \underline{\quad}$$

$$\frac{5}{9} + \frac{5}{9} = \underline{\quad}$$

$$\frac{55}{67} - \frac{7}{67} = \underline{\quad}$$

$$\frac{53}{65} - \frac{4}{65} = \underline{\quad}$$

$$\frac{8}{8} - \frac{5}{8} = \underline{\quad}$$

$$\frac{59}{65} - \frac{5}{65} = \underline{\quad}$$

$$\frac{23}{34} - \frac{7}{34} = \underline{\quad}$$

$$\frac{8}{37} + \frac{16}{37} = \underline{\quad}$$

$$\frac{56}{65} - \frac{3}{65} = \underline{\quad}$$

$$\frac{7}{63} + \frac{12}{63} = \underline{\quad}$$

$$\frac{6}{9} + \frac{7}{9} = \underline{\quad}$$

$$\frac{4}{63} + \frac{24}{63} = \underline{\quad}$$

$$\frac{6}{8} - \frac{5}{8} = \underline{\quad}$$

$$\frac{29}{34} - \frac{8}{34} = \underline{\quad}$$

$$\frac{9}{13} + \frac{2}{13} = \underline{\quad}$$

$$\frac{44}{47} - \frac{9}{47} = \underline{\quad}$$

$$\frac{6}{9} - \frac{5}{9} = \underline{\quad}$$

$$\frac{6}{7} + \frac{7}{7} = \underline{\quad}$$

$$\frac{2}{7} - \frac{1}{7} = \underline{\quad}$$

$$\frac{9}{13} + \frac{1}{13} = \underline{\quad}$$

$$\frac{2}{9} + \frac{2}{9} = \underline{\quad}$$

$$\frac{18}{33} - \frac{10}{33} = \underline{\quad}$$

$$\frac{7}{7} + \frac{5}{7} = \underline{\quad}$$

$$\frac{29}{29} - \frac{27}{29} = \underline{\quad}$$

$$\frac{3}{8} + \frac{4}{8} = \underline{\quad}$$

$$\frac{15}{17} - \frac{2}{17} = \underline{\quad}$$

$$\frac{54}{65} - \frac{5}{65} = \underline{\quad}$$

$$\frac{17}{33} - \frac{11}{33} = \underline{\quad}$$

$$\frac{28}{29} - \frac{22}{29} = \underline{\quad}$$

$$\frac{14}{17} - \frac{4}{17} = \underline{\quad}$$

$$\frac{25}{33} + \frac{22}{33} = \underline{\quad}$$

$$\frac{42}{47} - \frac{6}{47} = \underline{\quad}$$

$$\frac{7}{7} - \frac{5}{7} = \underline{\quad}$$

$$\frac{13}{21} - \frac{8}{21} = \underline{\quad}$$

$$\frac{28}{34} - \frac{5}{34} = \underline{\quad}$$

$$\frac{5}{7} + \frac{4}{7} = \underline{\quad}$$

$$\frac{22}{29} - \frac{20}{29} = \underline{\quad}$$

$$\frac{24}{29} + \frac{25}{29} = \underline{\quad}$$

$$\frac{5}{3} + \frac{6}{3} = \underline{\quad}$$

$$\frac{6}{7} - \frac{3}{7} = \underline{\quad}$$

$$\frac{2}{7} + \frac{2}{7} = \underline{\quad}$$

$$\frac{14}{33} + \frac{11}{33} = \underline{\quad}$$

$$\frac{2}{8} + \frac{5}{8} = \underline{\quad}$$

$$\frac{2}{8} - \frac{1}{8} = \underline{\quad}$$

$$\frac{11}{17} - \frac{3}{17} = \underline{\quad}$$

$$\frac{55}{65} - \frac{3}{65} = \underline{\quad}$$

$$\frac{7}{8} + \frac{12}{8} = \underline{\quad}$$

扫描右侧二维码
下载更多资源吧





口袋网校

同分母分数加减法

共120题

姓名: _____

日期: _____

$$\frac{3}{9} + \frac{5}{9} = \frac{8}{9}$$

$$\frac{44}{47} - \frac{6}{47} = \frac{38}{47}$$

$$\frac{5}{16} + \frac{4}{16} = \frac{9}{16}$$

$$\frac{19}{17} - \frac{7}{17} = \frac{12}{17}$$

$$\frac{2}{16} + \frac{11}{16} = \frac{13}{16}$$

$$\frac{14}{17} - \frac{2}{17} = \frac{12}{17}$$

$$\frac{11}{33} + \frac{13}{33} = \frac{2}{33}$$

$$\frac{15}{33} - \frac{10}{33} = \frac{5}{33}$$

$$\frac{3}{7} + \frac{1}{7} = \frac{4}{7}$$

$$\frac{24}{29} - \frac{22}{29} = \frac{2}{29}$$

$$\frac{3}{16} + \frac{8}{16} = \frac{11}{16}$$

$$\frac{22}{29} - \frac{13}{29} = \frac{9}{29}$$

$$\frac{25}{29} - \frac{23}{29} = \frac{2}{29}$$

$$\frac{13}{33} + \frac{18}{33} = \frac{31}{33}$$

$$\frac{2}{37} + \frac{13}{37} = \frac{15}{37}$$

$$\frac{8}{4} + \frac{1}{4} = \frac{9}{4}$$

$$\frac{3}{8} + \frac{4}{8} = \frac{7}{8}$$

$$\frac{23}{27} + \frac{14}{27} = \frac{37}{27}$$

$$\frac{6}{8} + \frac{3}{8} = \frac{9}{8}$$

$$\frac{6}{9} - \frac{4}{9} = \frac{2}{9}$$

$$\frac{14}{37} + \frac{13}{37} = \frac{27}{37}$$

$$\frac{5}{7} + \frac{7}{7} = \frac{12}{7}$$

$$\frac{7}{7} - \frac{4}{7} = \frac{3}{7}$$

$$\frac{6}{6} - \frac{5}{6} = \frac{1}{6}$$

$$\frac{4}{27} + \frac{12}{27} = \frac{16}{27}$$

$$\frac{7}{8} + \frac{4}{8} = \frac{11}{8}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{8}{9} - \frac{7}{9} = \frac{1}{9}$$

$$\frac{3}{16} + \frac{10}{16} = \frac{13}{16}$$

$$\frac{11}{21} - \frac{7}{21} = \frac{4}{21}$$

$$\frac{42}{47} - \frac{14}{47} = \frac{28}{47}$$

$$\frac{44}{47} - \frac{13}{47} = \frac{31}{47}$$

$$\frac{2}{63} + \frac{11}{63} = \frac{13}{63}$$

$$\frac{5}{63} + \frac{11}{63} = \frac{16}{63}$$

$$\frac{12}{21} - \frac{6}{21} = \frac{6}{21}$$

$$\frac{2}{37} + \frac{14}{37} = \frac{16}{37}$$

$$\frac{2}{9} + \frac{5}{9} = \frac{7}{9}$$

$$\frac{20}{33} - \frac{15}{33} = \frac{5}{33}$$

$$\frac{45}{47} - \frac{4}{47} = \frac{41}{47}$$

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

$$\frac{2}{27} + \frac{7}{27} = \frac{9}{27}$$

$$\frac{6}{8} + \frac{7}{8} = \frac{13}{8}$$

$$\frac{23}{52} - \frac{4}{52} = \frac{19}{52}$$

$$\frac{4}{51} + \frac{15}{51} = \frac{19}{51}$$

$$\frac{3}{5} + \frac{4}{5} = \frac{7}{5}$$

$$\frac{55}{65} - \frac{5}{65} = \frac{38}{65}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{8}{8} + \frac{11}{8} = \frac{19}{8}$$

$$\frac{45}{47} - \frac{8}{47} = \frac{37}{47}$$

$$\frac{7}{5} + \frac{7}{5} = \frac{14}{5}$$

$$\frac{13}{37} + \frac{15}{37} = \frac{28}{37}$$

$$\frac{9}{13} + \frac{3}{13} = \frac{12}{13}$$

$$\frac{44}{47} - \frac{23}{47} = \frac{21}{47}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{13}{9} - \frac{5}{9} = \frac{8}{9}$$

$$\frac{2}{37} + \frac{17}{37} = \frac{19}{37}$$

$$\frac{3}{7} - \frac{1}{7} = \frac{2}{7}$$

$$\frac{3}{27} + \frac{15}{27} = \frac{18}{27}$$

$$\frac{17}{17} - \frac{3}{17} = \frac{14}{17}$$

$$\frac{7}{37} + \frac{11}{37} = \frac{18}{37}$$

扫描右侧二维码
下载更多资源吧





口袋网校

同分母分数加减法

共120题

姓名: _____

日期: _____

$$\frac{27}{33} + \frac{23}{33} = \frac{50}{33}$$

$$\frac{8}{8} - \frac{7}{8} = \frac{1}{8}$$

$$\frac{11}{21} - \frac{10}{21} = \frac{1}{21}$$

$$\frac{2}{9} - \frac{1}{9} = \frac{1}{9}$$

$$\frac{24}{34} - \frac{3}{34} = \frac{21}{34}$$

$$\frac{42}{47} - \frac{7}{47} = \frac{35}{47}$$

$$\frac{3}{7} + \frac{5}{7} = \frac{8}{7}$$

$$\frac{9}{13} + \frac{1}{13} = \frac{10}{13}$$

$$\frac{9}{9} - \frac{5}{9} = \frac{4}{9}$$

$$\frac{22}{29} + \frac{22}{29} = \frac{44}{29}$$

$$\frac{6}{7} + \frac{2}{7} = \frac{8}{7}$$

$$\frac{4}{37} + \frac{13}{37} = \frac{17}{37}$$

$$\frac{8}{22} + \frac{9}{22} = \frac{17}{22}$$

$$\frac{3}{9} + \frac{5}{9} = \frac{8}{9}$$

$$\frac{5}{9} + \frac{5}{9} = \frac{10}{9}$$

$$\frac{55}{67} - \frac{7}{67} = \frac{48}{67}$$

$$\frac{53}{65} - \frac{4}{65} = \frac{49}{65}$$

$$\frac{8}{8} - \frac{5}{8} = \frac{3}{8}$$

$$\frac{59}{65} - \frac{5}{65} = \frac{54}{65}$$

$$\frac{23}{34} - \frac{7}{34} = \frac{16}{34}$$

$$\frac{8}{37} + \frac{16}{37} = \frac{24}{37}$$

$$\frac{56}{65} - \frac{3}{65} = \frac{53}{65}$$

$$\frac{7}{63} + \frac{12}{63} = \frac{19}{63}$$

$$\frac{6}{9} + \frac{7}{9} = \frac{13}{9}$$

$$\frac{4}{63} + \frac{24}{63} = \frac{28}{63}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{29}{34} - \frac{8}{34} = \frac{21}{34}$$

$$\frac{9}{13} + \frac{2}{13} = \frac{11}{13}$$

$$\frac{44}{47} - \frac{9}{47} = \frac{35}{47}$$

$$\frac{6}{9} - \frac{5}{9} = \frac{1}{9}$$

$$\frac{6}{7} + \frac{7}{7} = \frac{13}{7}$$

$$\frac{2}{7} - \frac{1}{7} = \frac{1}{7}$$

$$\frac{9}{13} + \frac{1}{13} = \frac{10}{13}$$

$$\frac{2}{9} + \frac{2}{9} = \frac{4}{9}$$

$$\frac{18}{33} - \frac{10}{33} = \frac{8}{33}$$

$$\frac{7}{7} + \frac{5}{7} = \frac{12}{7}$$

$$\frac{29}{29} - \frac{27}{29} = \frac{2}{29}$$

$$\frac{3}{8} + \frac{4}{8} = \frac{7}{8}$$

$$\frac{15}{17} - \frac{2}{17} = \frac{13}{17}$$

$$\frac{54}{65} - \frac{5}{65} = \frac{49}{65}$$

$$\frac{17}{33} - \frac{11}{33} = \frac{7}{33}$$

$$\frac{28}{29} - \frac{22}{29} = \frac{6}{29}$$

$$\frac{14}{17} - \frac{4}{17} = \frac{10}{17}$$

$$\frac{25}{33} + \frac{22}{33} = \frac{47}{33}$$

$$\frac{42}{47} - \frac{6}{47} = \frac{26}{47}$$

$$\frac{7}{7} - \frac{5}{7} = \frac{2}{7}$$

$$\frac{13}{21} - \frac{8}{21} = \frac{5}{21}$$

$$\frac{28}{34} - \frac{5}{34} = \frac{23}{34}$$

$$\frac{5}{7} + \frac{4}{7} = \frac{9}{7}$$

$$\frac{22}{29} - \frac{20}{29} = \frac{2}{29}$$

$$\frac{24}{29} + \frac{25}{29} = \frac{49}{29}$$

$$\frac{5}{3} + \frac{6}{3} = \frac{11}{3}$$

$$\frac{6}{7} - \frac{3}{7} = \frac{3}{7}$$

$$\frac{2}{7} + \frac{2}{7} = \frac{4}{7}$$

$$\frac{14}{33} + \frac{11}{33} = \frac{25}{33}$$

$$\frac{2}{8} + \frac{5}{8} = \frac{7}{8}$$

$$\frac{2}{8} - \frac{1}{8} = \frac{1}{8}$$

$$\frac{11}{17} - \frac{3}{17} = \frac{8}{17}$$

$$\frac{55}{65} - \frac{3}{65} = \frac{52}{65}$$

$$\frac{7}{8} + \frac{12}{8} = \frac{19}{8}$$

扫描右侧二维码
下载更多资源吧

